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Ex/Phil/PG/3.4.6/70/2017

MASTER OF ARTS EXAMINATION, 2017

(2nd Year, 3rd Semester)

PHILOSOPHY

(Philosophy  of  Mind - I)

Full Marks : 30 Time : Two Hours

Use a separate Answer-Script for each Group.

The figures in the margin indicate full marks.

Group - A / øıˆ¬±· - fl¬

1. What are the basic tenets of reductionism ? What are its
different types ? Can eliminativism be regarded as
reductionism ? Discuss. 5+3+2=10

1º ’ôL√ˆ¬«±ıı±Àı˛ ˜”˘ ıMêı…&ø˘ fl¬œ fl¬œ ∑ ¤˝◊ ˜Ó¬ı±Àı˛ øıøˆ¬iß

√õ∂fl¬±ı˛&ø˘ fl¬œ fl¬œ ∑ ¬Ûøı˛ıÊ«Úı±Àfl¬ øfl¬ ’ôL√ˆ«¬±ıı± ı˘± ˚±˚˛ ∑

’±À˘±‰¬Ú± fl¬ı˛º 5+3+2=10

Or / ’Ôı±

2. What is meant by ‘supervenience between body and mind’ ?
How do you distinguish between weak supervenience, global
supervenience and strong supervenience ? Discuss. 4+6=10
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2º ëŒ˝ › ˜ÀÚı˛ √õ∂-øÚˆ«¬ı˛Ó¬±í ı˘ÀÓ¬ fl¬œ Œı±Á¬±˚˛ ∑ ø˙øÔ˘ √õ∂-øÚˆ«¬ı˛Ó¬±,

øıù´ √õ∂-øÚˆ«¬ı˛Ó¬± ¤ı— ‘Ï¬ˇ √õ∂-øÚˆ«¬ı˛Ó¬±ı˛ ˜ÀÒ… Ó≈¬ø˜ fl¬œˆ¬±Àı ¬Û±Ô«fl¬…

øÚı˛+¬ÛÌ fl¬ı˛ ∑ ’±À˘±‰¬Ú± fl¬ı˛º 4+6=10

Answer within 200 words.

’ÚøÒfl¬ 200 ˙Às Î¬◊Mı˛ ±›º

3. Discuss the charge of species chauvinism levelled against
reductive physicalism. 5

3º ’ôL√ˆ«¬±ıı±œ Œˆ¬ÃÓ¬ı±Àı˛ øıèÀX¬ Œ˚ ¶§Ê±Ó¬…øˆ¬˜±ÀÚı˛ ’±¬ÛøM ›ÀÍ¬

Ó¬± ’±À˘±‰¬Ú± fl¬ı˛º 5

Or / ’Ôı±

4. Is emergentism compatible with dualism ? Discuss briefly. 5

4º Î¬◊Àiú¯∏ı± øfl¬ ΔZÓ¬ı±Àı˛ ¸À/ ¸/øÓ¬¬Û”Ì« ∑ ¸—Àé¬À¬Û ’±À˘±‰¬Ú± fl¬ı˛º

5

Group - B / øıˆ¬±· - ‡

5. What is Bipartism ? What are the different philosophical
stands that can be taken towards Bipartism ? What is David
Chalmers’ position ? 2+6+2=10

5º ı± ◊̋¬Û±øÈ«¬¸ ƒ̃ fl¬œ ∑ ı± ◊̋¬Û±øÈ«¬¸ ƒ̃-¤ı˛ øı ∏̄À ˛̊ Œfl¬±Ú Œfl¬±Ú ± «̇øÚfl¬ ’ı¶ö±Ú

ŒÚ›˚˛± Œ˚ÀÓ¬ ¬Û±Àı˛ ∑ ¤ øı¯∏À˚˛ ŒÎ¬øˆ¬Î¬ ‰¬±˜±¸«-¤ı˛ ’ı¶ö±Ú fl¬œ ∑

2+6+2=10
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Or / ’Ôı±

6. Discuss any two arguments that Thomas Nagel brings against
reductive physicalism. 5+5=10

6º ’ôL√ˆ«¬±ıı±œ Œˆ¬ÃÓ¬ı±-¤ı˛ øıèÀX¬ È¬˜±¸ Ú…±À·˘ √õ∂M ≈øÈ¬ ˚≈øMê

’±À˘±‰¬Ú± fl¬ı˛º 5+5=10

7. Briefly discuss the constraints that a theory of consciousness
has to abide according to David Chalmers. 5

7º ŒÎ¬øˆ¬Î ‰¬±˜± «̧-¤ı̨ ˜ÀÓ¬ Œ‰¬Ó¬Ú±ı̨ Œ˚Àfl¬±Ú› Ó¬MWÀfl¬ ◊̋ Œ˚ ˙Ó«¬¸ ”̋̃  Œ˜ÀÚ

øÚÀÓ¬ ˝˚˛ Œ¸&ø˘ ¸—Àé¬À¬Û ’±À˘±‰¬Ú± fl¬ı˛º¬ 5

Or / ’Ôı±

8. What does David Chalmers refer to by the name “Mind-
Mind” problem ? 5

8º ‘Mind-Mind’ ¸˜¸…± ı˘ÀÓ¬ ŒÎ¬øˆ¬Î¬ ‰¬±˜± «̧ fl¬œ ı≈øÁ¬À ˛̊ÀÂÚ ∑ 5

—————
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